GEOM 2-5 day 3.notebook

October 24, 2019

A composition of transformations is one transformation immediately followed by a second

transformation.

Example: glide reflection

As you already know, a glide reflection is the composition of a translation and a reflection.

b

Plot points A(3, 3) and B(7, 4). Connectto
form AB.

{ e
Pre ‘mo.c" Do translation {-8,0). (X' 8 > \‘ )

B L B
A ' A A’(%} a‘nd B(=1,4 ) C’onnectto
e H om 4B A(3-3,3) B'(7-3,u)
< <'p> X . Do reflection r,___. (X Y )
A"{'S_,'&)and B"(=|. -4 ). Connectto
A“ B" form A"B".

A"B"is a glide reflection of AB.
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New —l_odouj

new notation: © “is composed with"

=T gp )(KBL In any composition denoted

The previous composition could be denotedlike this: (r,

x—axis

in this manner, you always work from RIGHT to LEFT. So for this composition, you would graph AB
first, then do {-8,0}, and finally do r,__ -
L<—R
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AfQso, must know coordinade rulaes . [ <—R

Composition problems can be done without graphs. Just make sure you know your composition rules.

1. If the coordinates of P are (-2, 7), what are the coordinates of (Rzm ry =)(P)?

Fy=x__ R210 _
P(z&) (‘( 2) G_ 7) = P)

Whot Sin3Q9:\rcmS¥'0r madion maops
Q—2-|—‘3 —_— (—2—\_—’)?

) = (%)
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2 l
2. If the coordinates of P are (2 3} what are the coordinates of (Rap < R1a0)(P)?

- R
G

Do this ina 8(039&—‘«&:\3 Rcmadion.

Q23— (-3-2)
(D (YW ——
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\
3. What is the image of P(4, 6) under the composition (fy=yx © fy-axis)(P)?

P, @“"“""C {"J" (b)=P"

_x‘\(
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4. The coordinates of point A are (3, -1). What are the coordinates of A’, the image of A under the
composition (T2 5 ° Feaxis)?
2 \

T (5122 G
k/‘- p\*/

Do ‘H\iS asS a Sl“ﬂQ&"‘h‘QnSpQrmd'lm
GR-H)—7 (5,6)
KPP — (D) = <27>
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(
5. If the coordinates of A are (3, 5), what are the coordinates of (fi-axis < R1a0)(A)?

AGH) Riey ¢3loyTemss (C55)07)

A& R
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